Analysis update: May 3, 2022

¢« SIMC simulation:

e 2.7 GeV PionLT.
« Q2=0.38 GeV?, leftl, left2 and center settings (Ysimc *0.8).. Done
« Q2= 0.42 GeV?, leftl, left2 and center settings (Ysimc * 0.8).. Done

e 3.6 GeV PionLT -
« Q2=0.38 GeV?, leftl, left2, rightl, right2 and center settings.. Done
* Q?=0.42 GeV?, leftl, left2 and center settings. __ Done o

e 4.5 GeV PionLT
- Q2=0.38 GeV?, leftl, left2, rightl and center settings.” Done
« Q2= 0.42 GeV?, leftl, left2, rightl, right2 and center settings. pDone

@ An output pdf file of the 4.5 GeV, Q%= 0.42 GeV? and center setting is
attached below.
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Next Plan:

¢ Improve the Heep coin study of the KaonLT data first at Q%= 0.5 GeV?, and
then PionLT data at Q%= 0.38 and 0.42 GeV?2.

¢ Correct the experimental data to different inefficiencies and other factors
that | did not do in the first round of the study.
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